2021 Census Golf Club Four-Ball Tournament

Winner's Bracket

Loser's Bracket

| Stolba-Raszewski

I Hannon-Ross

(9]

Hannon-Ross 1 up

6]

Curtner-Curtner 5-4

I Curtner-Curtner

I Moon-Edwards

| Markovic-Walker

[11]

Markovic-Walker OT

3

Markovic-Walker 4-3

| Withum-Bui
| Danbury-Butler

[15]

Markovic-Walker 4-2

]

Danbury-Butler 5-4

| Konya-Viehdorfer
| Ayoob-Prosser

[12]

Ayoob-Prosser OT

15

Ayoob-Prosser 2 up

| Stevens-Fowler
I Adams-Sisson

[10]

[2]

Moon-Edwards 4-3

| Ricciardi-Kusch

I Stolba-Raszewski

| Beck-Jahed

Moon-Edwards 1 OT

[13]

Reid-Atala OT

[6]

Reid-Atala 6-5

| Reid-Atala
I Williams-Denby

116]

17)

[

Williams-Denby 1 up

| Collins-Fisiorek
I Ruiz-Ruiz

[14]

Ruiz-Jahed 1 up

[8]

Ruiz-Jahed 5-3

| Clements-Bowman

Stolba-Raszewski 5-4

| Beck-Jahed

| Ricciardi-Kusch

Stolba-Raszewski 1 up

| Adams-Sisson

Hannon-Ross 2-1

| Hannon-Ross

Reid-Atala_3-2

Winner's Bracket vs Loser's Bracket (Loser has to win twice)

Reid-Atala

Reid-Atala 2-1

| Hannon-Ross

Hannon and Ross 3-2

Ricciardi-Kusch 3-2

| Withum-Bui

I Konia—\/\ehdorfer

Ricciardi-Kusch 2 up

I Moon-Edwards

Konya-Viehdorfer 2-1

| Collins-Fisiorek

Curtner-Curtner 8-7

| Curtner-Curtner

I Stevens-Fowler

Curtner-Curtner 3-2

| Danbury-Butler

Hannon-Ross 1 up

| Ayoob-Prosser

Hannon-Ross

Fowler-Butler 3-1

Stevens-Fowler 2-1

Clements-Bowman

Fowler-Butler 2 up

I Wllllams—Denbz

Fowler-Butler 3-1

| Ruiz-Jahed

Hannon-Ross OT I

I Markovic-Walker



